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Bonny J. Tighe 2.1-2.4
25 points SECTION Fri 2/10/06

1. The displacement in meters of a particle moving in s straight line is given by
s(t)=t>- 4t + 5, where t is measured in seconds. a) Find the average velocity of the
particle over the time interval 1<t<2 and then on the interval 2<t<3. b) Estimate the
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2. Find the following limits: S
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4. Using the given graph, find the following
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6. Prove the following limit using the precise §,& definition of a limit.

lim (3 — x*)=— a4 ¢ >0 Yhor odlls @
lim (3 - x 1 \.%;h{)(x) - 4& 8\a,‘at_>o Al a_

tohagetin 1 s, Sl L ARAR e b Mt

\3‘ P |x—tle &

=%
\Us»x"\""( L85 =
|3l la-m es ek e

| Xyl ex”

ol
(X \ /\L‘,y\ / d
\X’L\ e g—/f So Cloo g’_’_ el g\’ /S/])
ok -2l e ol o Yeaa® Gl Meast
\x%’?’\‘ \)(/1,( C§ -2 IXL"L\l < o \bk’_,)cL\ e &

L2 L)l



